Hi everyone!

Bar Graphs are a crucial and frequently tested topic in the Quantitative Aptitude section of the CGL Tier 1 exam. This
topic not only enhances your data interpretation skills but also helps you develop the ability to analyze and compare data
efficiently. Mastering bar graph questions can give you an edge in scoring well in the exam.

Let's start with the fundamentals and then move on to solving exam-level problems to sharpen your accuracy and speed!

Bar charts are among the most traditional and widely used graphical tools for representing data. The value of each bar is
depicted by its height, making it simple to visually compare different variables.

In a typical bar chart, one axis—usually the X-axis—represents discrete categories, while the other axis—generally the Y-
axis—indicates a numerical scale for one or more continuous variables.
Below, you'll find examples illustrating various types of bar charts commonly used in data interpretation.

Bar Graph - Based on Simple Bar Charts
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Runs made by fourteen players in their ODI carrer
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[Source: Quant Sir]

1. If each of B, C, D, E, and J were dismissed 250 times in their ODI careers, what would be the average of their batting
averages?

2. If player | was dismissed at least 50 times in his career, what could be his maximum possible average?
3. What is the maximum difference in total runs scored between any two players from the given data?

4. What is the ratio of the average of player H to that of player J?

Solutions:

1. We know that:

Average = (Sum of all averages) / Number of players

Total runs scored = 5000 (B) + 10200 (C) + 9000 (D) + 10000 (E) + 9500 (J) = 43700

Since each was dismissed 250 times:

Average of averages = 43700 / (250 x 5) = 35

2. If player | was dismissed at least 50 times, his maximum possible average would be:
4000/ 50 =80

3. The highest score is by player L = 14400 runs, and the lowest is by player K = 3500 runs.
So, the maximum difference = 14400 — 3500 = 10,900 runs
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4. Since the number of dismissals for players H and J is not provided, their batting averages cannot be compared.
Hence, the required ratio cannot be determined.

Now that we've tackled questions based on a single bar chart, let's move ahead and explore problems involving multiple
bar charts.

Bar Graph - Based on Multiple Bar Charts

For example, consider data showing the number of players participating in three different games across five different
schools. These types of questions require comparing values across multiple variables and categories, making them a bit
more complex but very scoring once understood.
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[Source: Quant Sir]
1. What is the total number of players participating in Hockey from all five schools combined?

2. What is the ratio of the number of players participating in Basketball from School 1 to those participating in Kho-Kho
from School 3?

3. In which school is the combined number of players participating in Hockey and Basketball the highest?

Solutions:
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(1) By observing the blue bars (representing Hockey) in the chart, we get the values as:
70 (School 1), 80 (School 2), 50 (School 3), 50 (School 4), and 40 (School 5).

So, total =70 + 80 + 50 + 50 + 40 = 290

(2) From the graph:

Basketball players in School 1 =40

Kho-Kho players in School 3 = 50

Requiredratio=40:50=4:5

(3) Now let's find the sum of Hockey and Basketball players for each school:

*School 1: 70+ 40 =110
*School 2: 80+30=110
* School 3: 50 + 30 = 80

* School 4: 50+ 60 =110
* School 5: 40 + 80 =120

So, the highest combined participation in Hockey and Basketball is in School 5.

While multiple bar graph questions are generally straightforward, they require careful observation and attention to detail
to avoid silly mistakes. Practice these regularly to build accuracy and speed!

The concept of Bar Graphs plays a crucial role in the Quantitative Aptitude section of the SSC Tier 1 exam. It not only
helps in data interpretation but also strengthens your analytical and comparative reasoning skills, which are essential for
solving various types of DI (Data Interpretation) questions. We hope this study guide has helped you understand the
fundamentals of Bar Graphs. Keep practicing regularly with our . , and stay connected with us for
more exam-oriented notes and smart solving techniques!
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